The Faculty of Economic Science of the Georg-August-University in Göttingen

under the Presidency of

Professor Dr. rer. physiol. Dr. h.c. Ulrike Beisiegel

and under the Dean of the Faculty

Professor Dr. rer. pol. Kilian Bizer

confers the Degree Doctor of Economics

- Dr. rer. pol. -

on

Mister

M. A.

Moises Neil V. Seriño

from Ormoc, Leyte/Philippines,
after demonstrating his scientific qualification through passing the required exams,
completing the dissertation with the title

"Is de-carbonized development possible? Household emissions and renewable energy in developing countries"

and passing the oral examination on 20 October, 2014.

He was awarded the overall grade cum laude.

Göttingen, 24 October, 2014







HEREBY CONFERS UPON

MOISES NEIL VILLAFLOR SERINO

THE DEGREE OF MASTER OF ARTS IN INTERNATIONAL DEVELOPMENT

IN CONSIDERATION OF THE FULFILLMENT OF THE CONDITIONS
PRESCRIBED BY THE UNIVERSITY FOR THE DEGREE, WITH
ALL THE RIGHTS AND PRIVILEGES THERETO PERTAINING.

GIVEN UNDER THE SEAL OF THE UNIVERSITY AT MINAMI UONUMA-SHI,
NIIGATA, JAPAN ON THE TWENTY-FIFTH DAY OF JUNE IN THE YEAR
OF TWO THOUSAND AND NINE.



Bullet of the second of the se

YASUMA SUGIHARA, PRESIDENT





Issue No. 135809

Transcripts

School Student No. 1A7054 Graduate School of International Relations Program International Development Program Date of Birth November 22, 1983 Status Regular Student **Enrollment Date** September 1, 2007 Degree Master of Arts in International Development **Graduation Date** June 25, 2009

OCC5210 OCC5220 GC410A PRC4010 PRC4020	Fall 2007 Mathematics & Computing for Economics Statistics for Business and Economics	2.0			
GC410A PRC4010		2.0			
GC410A PRC4010		CONTRACTOR OF THE PERSON NAMED IN COLUMN TWO IS NOT THE OWNER.	2.0	A-	3.75
PRC4010		2.0	2.0	Α	4.00
	Basic Japanese I	0.5	0.5	Р	0.00
PRC4020	Basic Microeconomics	2.0	2.0	A	4.00
	Basic Macroeconomics	2.0	2.0	B+	3.50
		Term CE:	8.5	GPA	: 3.81
	Winter 2008			14	
ADC6765	Cost Benefit Analysis	2.0	2.0	B+	3.50
CC5240	Microeconomics	2.0	2.0	B+	3.50
CC5250	Macroeconomics - A Section 1997	2.0	2.0	A	4.00
CC5260	Applied Econometrics	2.0	2.0	A	4.00
TC6040	Database Design and Management Strategies	2.0	2.0	B+	3.50
GC410B	Basic Japanese II	0.5	0.5	P	0.00
	# 15 A A A A A A A A A A A A A A A A A A	Term CE:	10.5		: 3.70
	Spring 2008				.,, 0
DC6510	Quantitative Methods for Decision Making	2.0	2.0	A	4.00
DC6515	Quantitative Analysis of Economic Policies	2.0	2.0	A	4.00
CC5230	Research Methodology	2.0	2.0	A-	3.75
CC5270	Development Economics	2.0	2.0	A	4.00
GC410C	Basic Japanese III	0.5	0.5	P	0.00
EM8011	Advanced Seminar I	2.0	2.0	P	0.00
		Term CE:	10.5		: 3.94
	Fall 2008	reim ez i	10.0	Ol A	. 5.74
DC6520	Development Planning	2.0	2.0	Α	4.00
DC6525	Applied Time Series Analysis	1.0			4.00
DC6570	Project Cycle Management	2.0	1.0	A	4.00
DC7010	Inequality and Poverty: Measurement and Applications		2.0	A-	3.75
GC4101	Elementary Japanese I	1,0 1,0	1.0	A-	3.75
EM8012	Advanced Seminar II	2.0	1.0	P P	0.00
		Term CE:	9.0		0.00
	Winter 2009	remirce:	9.0	GFA	. 3.88
DC6750	Industrial Organization and Public Policy	20	2.0		1.00
GC4102	Elementary Japanese II	2.0	2.0	A	4.00
EC6420	OPEC and Economic Development	1.0	1.0	P	0.00
EM8013	Advanced Seminar III	2.0	2.0	A-	3.75
ur10010		2.0	2.0	P	0.00
	Spring 2009	Term CE:	7.0	GPA	: 3.88
DC6640					
DC6640	Special Topic in Development Economics: Productivity and Efficiency Analyses	2.0	2.0	A	4.00
GC4103	Elementary Japanese III	1.0	1.0	P	0.00
EC5641 RE8020	Postwar Japanese Economy MA Thoris	2.0	2.0	A-	3.75
	MA Thesis	0.0 Term CE:	0.0	D	0.00







大学院上際関係学研究科 Graduate School of International Relations

Student No.

1A7054

Name Serino, Moises Neil Villaflor

Date of Birth

Course ID Course Title

November 22, 1983

Enrollment Date September 1, 2007
Graduation Date June 25, 2009

School

Graduate School of International Relations

Program Int

International Development Program

Status Regular Student

Degree

Master of Arts in International Development

Total

CE: 50.5

Grade Points
GPA: 3.83

Date of Issue June 25, 2009

Yasuma Sugihara

President U

International University of Japan